








Statements:

All flowers are plants.

No plant is an stem.

All stems are fruits.

Conclusions:

I. All flowers being fruits is a 

possibility.

II. All stems being flower is a 

possibility.

कथन: 

सभी फूल पौध ेहैं। 

कोई पौधा तना नहीं ह।ै 

सभी तने फल हैं। 

ननष्कर्ष: 

I. सभी फ्लावर के फू्रट होने की संभावना 

ह।ै 

II. सभी स्टेम के फूल होने की संभावना ह।ै



Statements:

All flowers are plants.

No plant is an stem.

All stems are fruits.

Conclusions:

I. All flowers being fruits is a 

possibility.

II. All stems being flower is a 

possibility.



There are five members in a family, R is

brother of T, M is sister of R, K is brother of

M, W is father of T.

परिवाि में पाांच सदस्य हैं, R, T का भाई है, M, R की

बहन है, K, M का भाई है, W, T के पपता हैं।

Q How many males members are there in a

family?

परिवाि में पकतने पुरुष सदस्य हैं?

(A) 2 (B) 4

(C) 3 (D) 3 or 4



There are five members in a family, R is brother

of T, M is sister of R, K is brother of M, W is

father of T.

परिवाि में पाांच सदस्य हैं, R ,T का भाई है, M, R की बहन

है, K, M का भाई है, W, T के पपता हैं।

Q. How many female members are there in a

family?

परिवाि में पकतनी मपहला सदस्य हैं?

(A) 2 (B) 1

(C) 3 (D) None of these



Q. Sunil is son of Keshav, Keshav’s only sister

Simran has a son Maruti and a daughter Sita.

Prem is maternal uncle of maruti. How is Sunil

related to Prem?

सनुील केशव का पुत्र है, केशव की एकमात्र बहन पसमिन

का बेटा मारुपत औि बेटी सीता है। पे्रम मारुपत का मामा है।

सनुील पे्रम से कैसे सांबांपित है?

(A) Niece / भाांजी/भतीजी

(B) Nephew / भाांजा/भतीजा 

(C) Uncle / अांकल

(D) Aunt / आांटी



Q.Kalyani is mother-in-law of veena who is sister-in-law

of Ashok. Veena has no sibling . Dheeraj is father of

Sandeep who is only brother of Ashok. How Sandeep is

related Kalyani?

कल्याणी वीणा की सास है जो अशोक की पसस्टि इन लॉ है। वीना

के पास कोई भाई-बहन नहीं है, िीिज सांदीप का पपता है जो अशोक

का एकलोटा भाई है। सांदीप कल्याणी से कैसे सांबांपित है?

(A) Son / पुत्र

(B) Son-in-law / दामाद

(C) Brother / भाई 

(D) Father / पपता



All the six members of a family A, B, C, D, E and F are

travelling together. B is the son of C but C is not the

mother of B. A and C are a married couple. E is the

brother of C. D is the daughter of A. F is sister of B.

एक परिवाि के सभी छह सदस्य A, B, C, D, E औि F एक साथ

यात्रा कि िहे हैं। B, C का पुत्र है लेपकन C, B की माां नहीं है । A व C

पववापहत जोडे हैं। E, C का भाई है। D, A की बेटी है । F, B की

बहन है।

Who among the following persons is the son of A?

पनम्नपलपित में से कौन सा व्यपि A का पुत्र है?

(A) B (B) D

(C)   F (D) E



Q. In a family of seven people A, B, C, D, F, J and K.

D is sister of C and only daughter of B, who is spouse

of A. B is Grandmother of J & K, whose mother is F.

A has only 2 children .

सात लोगों के परिवाि में A, B, C, D, F, J औि K है । D, C की

बहन औि B की एकमात्र बेटी है जो A के पपत/पत्नी है, B, J व

K की दादी है पजनकी मााँ F हैं । A के केवल 2 बच्चे हैं।

Q. Who is the sister of C ?

C की बहन कौन है ?

(A) K

(B) F

(C) B

(D) None of these



Q. In a family of seven people A, B, C, D, F, J and K. D

is sister of C and only daughter of B, who is spouse of A.

B is Grandmother of J & K, whose mother is F.

सात लोगों के परिवाि में A, B, C, D, F, J औि K है । D, C की

बहन औि B की एकमात्र बेटी है जो A के पपत/पत्नी है, B, J व K

की दादी है पजनकी मााँ F हैं । A के केवल 2 बच्चे हैं।

Q. How is D related to F?

D, F से कैसे सांबांपित है?

(A) Daughter / पुत्री

(B) Son / पुत्र

(C) Sister-in-law / साली/भाभी

(D) Daughter-in-law / बहु



Q. In a family of seven people A, B, C, D, F, J and K. D is

sister of C and only daughter of B, who is spouse of A. B is

Grandmother of J & K, whose mother is F.

सात लोगों के परिवाि में A, B, C, D, F, J औि K है । D, C की बहन

औि B की एकमात्र बेटी है जो A के पपत/पत्नी है, B, J व K की दादी है

पजनकी मााँ F हैं । A के केवल 2 बच्चे हैं।

Q. How is K related B ?

K, B से कैसे सम्बांपित है?

(A) Grandson / नाती/पोता

(B) Grand-daughter / नपतन/पोती

(C) CND / ज्ञात नही कि सकते

(D) None of these / इनमे से कोई नहीं



Q.Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a

family. Lata and Mita are siblings. Shree is son-in-law of Hina

and son of Mita. Shakti is only child of Kiran, who is

grandfather of Lata.

पहना, पकिण, शपि, श्री, लता औि मीता एक परिवाि के सदस्य हैं । लता औि

मीता भाई बहन हैं। श्री, पहना के दामाद हैं औि मीता का बेटा है । शपि, पकिण

का एकमात्र बच्चा है, जो लता के दादा है।

Q. How is Shree related to Kiran?

श्री, पकिण से कैसे सांबांपित हैं?

(A) Grandson / पोता/नाती 

(B) Grand-daughter / पोती/नपतन 

(C) Daughter-in-law / बहु

(D) None of these / इनमे से कोई नहीं



Q.Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a

family in which there are two married couples. Lata and Mita

are siblings. Shree is son-in-law of Hina and son of Mita. Shakti

is only child of Kiran, who is grandfather of Lata.

पहना, पकिण, शपि, श्री, लता औि मीता एक परिवाि के सदस्य हैं पजसमें दो

पववापहत जोडे हैं। लता औि मीता भाई बहन हैं। श्री, पहना के दामाद हैं औि

मीता का बेटा है । शपि, पकिण का एकमात्र बच्चा है, जो लता के दादा है।

Q.How is Hina related to Lata? / पहना, लता से कैसे सम्बांपित है?

(A) Grandson / पोता/नाती

(B) Grandmother / दादी/नानी

(C) Daughter-in-law / बहु

(D) None of these / इनमे से कोई नहीं



Q. Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a

family. Hira is brother of Karan and father of Shakil and

Shreya. Rita and Gita are grandparents of Karan.

हीिा, किन, शापकल, शे्रया, िीता औि गीता परिवाि के सदस्य हैं। हीिा

किन के भाई एवां शपकल औि शे्रया के पपता हैं। िीता औि गीता किन के

दादा दादी हैं।

Q. How is Hira related to Rita ?/ हीिा िीता से कैसे सांबांपित है?

(A) Grandson

(B) Grandmother

(C) Daughter-in-law

(D) None of these



Q. Hira, Karan, Shakil, Shreya, Rita, and Gita are part

of a family. Hira is brother of Karan and father of Shakil

and Shreya. Rita and Gita are grandparents of Karan.

हीिा, किन, शापकल, शे्रया, िीता औि गीता परिवाि के सदस्य हैं। हीिा

किन के भाई एवां शपकल औि शे्रया के पपता हैं। िीता औि गीता किन

के दादा दादी हैं।

Q. How is Shakil related to Karan?/ शपकल किन से कैसे

सांबांपित है?

(A) Grandson

(B) Grandmother

(C) Daughter-in-law

(D) Nephew or Niece



Q. Hira, Karan, Shakil, Shreya, Rita, and Gita are part

of a family. Hira is brother of Karan and father of Shakil

and Shreya. Rita and Gita are grandparents of Karan.

हीिा, किन, शापकल, शे्रया, िीता औि गीता परिवाि के सदस्य हैं। हीिा

किन के भाई एवां शपकल औि शे्रया के पपता हैं। िीता औि गीता किन

के दादा दादी हैं।

Q. Who is grandson of Gita if Karan is the female?

गीता का पोता कौन है यपद किन मपहला है?

(A) Karan (B) Hira

(C) Shakil (D) None of these



P$Q means “Q is the brother of P”. / "Q, P का भाई है"

P#Q means “Q is the daughter of P”. / "Q, P की बेटी है"

P@Q means “Q is the father of P”. / "Q, P का पपता है"

P%Q means “Q is the mother of P”./ "Q, P की मााँ है"

P&Q means “Q is the sister of P”. / "Q, P की बहन है"

Q. If the expression P$Z@V#Y%W&X, then how is P related to W?

यपद अपभव्यपि P $ Z @ V # Y% W & X है, तो P, W से कैसे सांबांपित है?

(1)Son

(2)Daughter

(3)Father

(4) Brother - in - Law

(5) CND



P$Q means “Q is the brother of P”. / "Q, P का भाई है"

P#Q means “Q is the daughter of P”. / "Q, P की बेटी है"

P@Q means “Q is the father of P”. / "Q, P का पपता है"

P%Q means “Q is the mother of P”./ "Q, P की मााँ है"

P&Q means “Q is the sister of P”. / "Q, P की बहन है"

Q. If the expression P$Z@V#Y%W&X, then how is V related to W?

यपद अपभव्यपि P $ Z @ V # Y% W & X है, तो V, W से कैसे सांबांपित है?

(1)Mother

(2)Husband

(3)Either 1 or 2

(4)Father

(5) None of these



Q is father of A and B. X is mother 

of K, N is son of A. N is the only 

brother of K. X is daughter-in-law 

of P. P has only one daughter and 

one son.

Q. How is K related to Q ?

K, Q से कैसे सांबांपित हैं?

(A) Grandson / पोता/नाती 

(B) Grand-daughter / पोती/नपतन 

(C) Daughter-in-law / बहु

(D) None of these / इनमे से कोई नहीं

Q, A और B का नपता ह।ै X, K की 

माता ह,ै N, A का पतु्र ह।ै N, K का 

इकलौता भाई ह।ै X, P की पतु्रवध ूह।ै 

P की केवल एक पतु्री और एक पतु्र 

ह।ै



Q is father of A and B. X is 

mother of K, N is son of A. N 

is the only brother of K. X is 

daughter-in-law of P. P has 

only one daughter and one son.



Garv is the son of Sashi. Heer is the 

father of Manu. Garv is married to 

Devi. Garv and Manu are siblings. 

Prem is the brother of Devi. Sashi

has only one son. Riya is the son of 

Garv. Prem is the father of Kaka. 

Joshi is the daughter of Manu. 

Prem has no daughters

How many male member in a family ?

4 5 6 cnd not

गरव शनश का पतु्र ह।ै हीर मन ुके नपता हैं। 

गरव का नववाह दवेी से हुआ ह।ै गवष और 

मन ुभाई-बहन हैं। प्रेम दवेी का भाई ह।ै 

शनश का एक ही बेटा ह।ै ररया गरव का 

पतु्र ह।ै पे्रम काका का नपता ह।ै जोशी मन ु

की पतु्री ह।ै पे्रम की कोई बेटी नहीं है

एक पररवार में नकतने परुुर् सदस्य हैं?

4 5 6 cnd not



Garv is the son of Sashi. Heer is the 

father of Manu. Garv is married to 

Devi. Garv and Manu are siblings. 

Prem is the brother of Devi. Sashi has 

only one son. Riya is the son of Garv. 

Prem is the father of Kaka. Joshi is the 

daughter of Manu. Prem has no 

daughters

How many male member in a family ?

4 5 6 cnd not



M is the grandson of G. D is husband of 

G. K is married to the son of S. T have 

two children of different gender. E is 

the daughter of K’s brother. N is 

brother-in-law of the son of S. G has 

only one child. D is the father of N. 

How N is related to G? 

a) Son 

b) Son -in- law 

c) Grandson 

d) Brother 

e)  Father

M, G का पोता ह।ै D, G का पनत ह।ै K का 

नववाह S के पतु्र से हुआ ह।ै T के अलग-

अलग नलंग के दो बच्च ेहैं। E, K के भाई की 

पतु्री ह।ै N, S के पतु्र का ब्रदर-इन-लॉ ह।ै G 

की केवल एक संतान ह।ै D, N का नपता ह।ै 

N, G से नकस प्रकार संबंनधत ह?ै 

a) बेटा 

b) दामाद 

c) पोता 

d) भाई 

e) नपता



M is the grandson of G. D is husband of 

G. K is married to the son of S. T have 

two children of different gender. E is 

the daughter of K’s brother. N is 

brother-in-law of the son of S. G has 

only one child. D is the father of N. 

How N is related to G? 

a) Son 

b) Son -in- law 

c) Grandson 

d) Brother 

e)  Father



A is mother of B. B is sister of C. D is 

son of C. E is brother of D. F is 

mother of E. G is granddaughter of A. 

H has only two children B and C. 

How is F related to H? 

a) Son-in-law 

b) Daughter-in-law 

c) Father-in-law 

d) Granddaughter 

e) Niece 

A, B की मााँ ह।ै B, C की बहन ह।ै D, 

C का पतु्र ह।ै E, D का भाई ह।ै F, E 

की मााँ ह।ै G, A की पोती ह।ै H के 

केवल दो बच्चे B और C हैं। 

F, H से नकस प्रकार संबंनधत ह?ै 

a) दामाद 

b) बहू 

c) ससरु 

d) पोती 

e) भतीजी



A is mother of B. B is sister of C. D is 

son of C. E is brother of D. F is 

mother of E. G is granddaughter of A. 

H has only two children B and C. 

How is F related to H? 

a) Son-in-law 

b) Daughter-in-law 

c) Father-in-law 

d) Granddaughter 

e) Niece 



A family consists of six members 

P, Q, R, X, Y and Z. Q is the son of 

R but R is not the mother of Q. P 

and R are married couple. Y is the 

brother of R. X is the daughter of P 

and Z is the brother of P. 

Who is the brother–in-low of R? 

a) P 

b) Z 

c) Y 

d) X 

e) Q

एक पररवार में छह सदस्य P, Q, R, X, 

Y और Z हैं। Q, R का पतु्र ह ैलेनकन R, 

Q की माता नहीं ह।ै P और R नववानहत 

जोडे हैं। Y, R का भाई ह।ै X, P की पतु्री 

ह ैऔर Z, P का भाई ह।ै 

R का ब्रदर-इन-लो कौन ह?ै 

a) P

b) Z

c) Y

d) X

e) Q



A family consists of six members 

P, Q, R, X, Y and Z. Q is the son of 

R but R is not the mother of Q. P 

and R are married couple. Y is the 

brother of R. X is the daughter of P 

and Z is the brother of P. 

Who is the brother–in-low of R? 

a) P 

b) Z 

c) Y 

d) X 

e) Q



There are six children taking part in an 

essay competition, namely A, B, C, D, E 

and F. A and E are brothers. F and D are 

the sister of E. C is the only son of A’s 

uncle. B and D are the daughters of the 

brother of C’s father. 

How is D related to A? 

a) Uncle 

b) Sister 

c) Niece 

d) Cousin 

e) None of these

एक ननबंध प्रनतयोनगता में छह बच्च ेभाग ले

रह ेहैं, अथाषत ्A, B, C, D, E और F। A 

और E भाई हैं। F और D, E की बहन हैं। 

C, A के चाचा का इकलौता पतु्र ह।ै B और 

D, C के नपता के भाई की बेनटयााँ हैं। 

D, A से नकस प्रकार संबंनधत ह?ै 

a) चाचा 

b) बहन 

c) भतीजी 

d) चचेरा भाई 

e) इनमें से कोई नहीं



There are six children taking part in an 

essay competition, namely A, B, C, D, E 

and F. A and E are brothers. F and D are 

the sister of E. C is the only son of A’s 

uncle. B and D are the daughters of the 

brother of C’s father. 

How is D related to A? 

a) Uncle 

b) Sister 

c) Niece 

d) Cousin 

e) None of these



A + B means A is the father of B/ A, B का पिता है
A × B means A is the sister of B / A, B की बहन है
A $ B means A is the wife of B / A, B की ित्नी है
A % B means A is the mother of B / A, B की मााँ है
A ÷ B means A is the son of B / A, B का िुत्र है

Q. What should come in place of the question mark, to establish that T is the sister-in-law of Q 

in the given expression / प्रश्न पचह्न के स्थान पि क्या आना चापहए, यह स्थापपत किने के पलए पक दी गई 

अपभव्यपि में T,Q की sister-in-law है?

R % T × P ? J $ Q + V 

(1) ÷

(2) % 

(3) ×

(4) $          

(5) Either $ or ×



A + B means A is the father of B/ A, B का पिता है
A × B means A is the sister of B / A, B की बहन है
A $ B means A is the wife of B / A, B की ित्नी है
A % B means A is the mother of B / A, B की मााँ है
A ÷ B means A is the son of B / A, B का िुत्र है

Q. What should come in place of the question mark, to establish that J is the brother of L 

in the given expression / प्रश्न पचह्न के स्थान पि क्या आना चापहए, यह स्थापपत किने के पलए पक दी गई 

अपभव्यपि में J,L का भाई है? 

J ÷ P % H ? T + L × R 

(1) ×

(2) ÷

(3) $ 

(4) Either ÷ or ×

(5) Either + or ÷ /  +  ÷



There are eight family members B, D, H, K, 

N, P, Q and R. N is uncle of Q, who is 

daughter of R. There are two married 

couples in the family and two grandchildren 

in the family. H has one daughter and one 

son. B is granddaughter of P and sister of D. 

P is sister-in-law of N. H is not a male. Q 

has only one brother. 

How is R related to K? 

a) Mother 

b) Father 

c) Brother 

d) Can’t be determined 

e) None of these

पररवार में आठ सदस्य B, D, H, K, N, P, Q 

और R हैं। N, Q का चाचा ह,ै जो R की पतु्री ह।ै

पररवार में दो नववानहत जोडे और पररवार में दो 

पोते-पोनतयां हैं। H की एक पतु्री और एक पतु्र ह।ै

B, P की पोती ह ैऔर D की बहन ह।ै P, N की 

नसस्टर-इन-लॉ ह।ै H परुुर् नहीं ह।ै Q का केवल 

एक भाई ह।ै 

R, K से नकस प्रकार संबंनधत ह?ै 

a)मााँ 

b) नपता 

c) भाई 

d) ननधाषररत नहीं नकया जा सकता

e) इनमें से कोई नहीं



There are eight family members B, D, H, K, 

N, P, Q and R. N is uncle of Q, who is 

daughter of R. There are two married 

couples in the family and two grandchildren 

in the family. H has one daughter and one 

son. B is granddaughter of P and sister of D. 

P is sister-in-law of N. H is not a male. Q 

has only one brother. 

How is R related to K? 

a) Mother 

b) Father 

c) Brother 

d) Can’t be determined 

e) None of these



In a family of 8 members, there are 

only two married couples and only 

married couples can have child. 

Shikha is the elder sister of Sahu, who 

is married to Siya. Salvi is the only 

daughter of Sumi, who is the nephew 

of Shikha. Sahil is the brother-in-law 

of Shri, who does not belong to the 

first generation. It is to be assumed 

that wife is younger than his husband. 

Siya is the grandmother of Sara

8 सदस्यों के एक पररवार में केवल दो 

नववानहत जोडे हैं और केवल नववानहत जोडे

ही बच्च ेपैदा कर सकते हैं। नशखा साहू की

बडी बहन ह,ै नजसकी शादी नसया से हुई ह।ै 

साल्वी समुी की इकलौती बेटी ह,ै जो नशखा

का भतीजा ह।ै सानहल श्री का साला ह,ै जो

पहली पीढी से संबंनधत नहीं ह।ै यह माना 

जाता ह ैनक पत्नी अपने पनत से छोटी ह।ै 

नसया सारा की दादी हैं



In a family of 8 members, there are only 

two married couples and only married 

couples can have child. Shikha is the elder 

sister of Sahu, who is married to Siya. Salvi

is the only daughter of Sumi, who is the 

nephew of Shikha. Sahil is the brother-in-

law of Shri, who does not belong to the 

first generation. It is to be assumed that 

wife is younger than his husband. Siya is 

the grandmother of Sara


